¥ A

HBIXFX  EFSHR (-8 AwEF) o % :
HRFER
SHEHRELERESRALS &

Bhdnt 2434 bR B LR F WL

HT0%%
B K X L ARMA R
E3 (02)2909614142317

XXE I EBIER
BEXB# YERAMESALR
FXFH TP H09400191615%
BB RWEAHF
FEERMEAERGRENR L&
M e
T AMARKBERITZRRELE  FRAAME  FER -
B
— s RAEeMEIEZ rr‘%iﬁfz}ﬁaé‘iiﬂ%%ﬂﬁ,ﬁh BT TREE
MM EEERE )  ABREETREXFRETHNRIE
TEE
()R EME 1 KRAHIAF6A108 % F 09400143703k &
1£ AT AR EEERE ) PRHE—RZTIBEE
frAe - REEMERE -
(-—-)%‘i—‘%a- i'(. E&f’ Lﬂﬂ%’é&“‘%z#ﬁ BRALKRABFTZEH
(E-)Ei%-lﬁﬁﬂ i o E‘Eﬁlﬁ‘ﬁﬁ&% WATZ B HEREFE  HA2
BEHR M HBTHERERRE LD PE
Mﬁ%%"‘%&?\.fﬁmm’%
ZoMERELREFRMUFIBRA TR > EERRHKS - (B
RFHMER Eiﬁ)

ERIEZEIRRE
B A

TFR%: REFEACREGRABALELER - TR ENERELZRLBA
FELER  RBNEBEREZTRARADEIHER

$18 #1138

. aan

gif




- REFETAERM R
— BB RATARL
(=) ZERE  BERAAL -
(=) B K
. @A ROTOSE  AMEAGKALT L SE -
2. RA]:
(1) —#a—mefs: AAE— -
(2) — o —Eefex: AR -
(3) ~#ay: GAR= -
FAEZ BRI B IRMAEAT B B RIS -
R
(=) ®XEME BEBITEEL
(=) B3 ' brRaTadE AABY -
Z - H g _
(=) BEBITHRBRZILRBELRTHRERYL  wBE -

(Z) BREBITLBAFRABEBITRARIRERE B> RERES
REBRBEBEL -

I



RA RS RATH R 238 AT A IR &

242 B R @AM B
RE—ABUEE(HT) 8 6:00~9:00 B —
A &8 6:00~9:00 -

LR ) 8 8 16:00~19:00 8 =
S — P o £ 8 7:00~9:00 _
Ak %R 3% i 1 () B8 16:00~19:00 8 =
BL—44 (&F) 4 8 16:00~19:00 B —
ER—FFPe (HT) F8a 7:00~9:00 B —
o # 8 10:00~14:00
k| — R & ¢ fnall
ME—#BG 424 (HTF) 16:00~19:00
EYRAL—¥R (HT) 8 16:00~19:00 8 —
BAhLE— B £ 8 7:00~9:00 _
MRS SHIER(EHTF) 16:00~19:00 B =
R — & A8 7:00~9:00 -
& L 3t (dbk) 16:00~19:00 5]
b FREBAD-£4 (L) £ 8 16:00~19:00 B —
. £ 8 7:00~9:00
=k — sty =
SRR -ReR% (JLL) 16:00~19:00 i)
2 " # 8 7:00~9:00 -
PhAESTEOORE 16:00~19:00 ]
PR REIL AT EE £8 7:00~9:00 & —
% B35 14:00~19:00 3

EE-EHAAGLL)

% 8 14:00~19:00

RBEAT B R ERHRR AL -




100

13

30 ,10, 30

)

B B
IN=

AU 3B

B 17

15| 30‘10‘ 30 !10! 30 !10‘ 30 ’15
1 1 I | |

180

14-19

20 ! 20 ! 20

60

10! 20 !5!10!5! 20 I[10

80

(W—W/R) & (B—B/W)

@.._-




100

15, 30 10, 30 ,I5

P B8

lm, 30 ' 15

NE
B -
B AT |
7-9]

16-19

10] 20 |10] 20 |10

10! 20 !5!10!5] 20 !10

80

(W=W/R) & (B-B /W)

e




100

fR B
NB |
B
B 1T |
14-19|
B B
16-19)]

(W-W/R) & (B-B/W) & (B-B/W)

B =




=n 17

‘10! 30 |101 30 |10| 30 ‘ 15

15 ‘ 30

180

(W-W/R)




15

30 llO’ 30 ‘10! 30 ’10' 30 ‘15
I | I

180

(W-W/R)




llﬂl 30 IIU‘ 30 |10' 30 ‘ 15

15 ‘ 30

180

20 , 20

20

[__E_I

60

(W—W/R) & (B—B/W)

A
N




